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ENGLISH VERSION

Instructions :
(1) All questions are compulsory.

(2) Marks are indicated on right side.

1 (a) Explain : Theory of Runs.
(b) Explain : C-chart.
OR

1 From the following data, draw X and R chart :

X:l6|5|6|5-6|8|4(|8-2|6|6[7]5-2
R:-|7154| 5 |23 2 [4|4(4a]| 7

(n=75, 4 = 0577, Dy =0, Dy =2.115)

2 (a) Explain : Input-output Analysis.

(b) Fit y=a + bx for the given data :

212002 {2003 | 2004 [ 2005 [ 2006 | 2007
y:| 50 58 63 65 68 74

OR

2 (a) Explain : Method of Exponential smoothing.

(b) Obtain the forecasting about sale of the following

different years taking o = 0.4 and initial forecast 100 :

Year: | 2010 | 2011 [ 2012 | 2013 [ 2014 | 2015
Sale: | 110 [ 120 | 121 | 125 | 124 | 122
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3 (a) Explain : Demand and Supply. 8

(b) Demand function of a commodity is x = 30— P 7
calculate elasticity of demand when price of a commodity
is Rs. 100.
OR
3 (a) Explain : Monopoly. 8
x3
(b) Cost function of a commodity is C = .7

10 — 3x2 — 9x + 500

Find x for minimum cost.

4 (a) Explain : Utility, Marginal Utility. 8
. . 10xy — y—x
(b) Production function Z = f(x, y) = ————— 7
Xy
and per unit value of x, y and z are 4, 4, 9.
Find maximum profit.
OR
4 (a) Explain : Cobb-Douglass production function.
(b) Utility function of a consumer is 7

U=24x + 48y — x2 —y2 and Budget equation is

x+3y=14. Find x and y for maximum utility.
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